Bkt R (BCKith )

BT B AE (KR

HEAKEHH B{r el SH5FE4A258 | FF5ESA238 | SF5E6A68 | SM5FETH258 | FF5FE8A298 | HSFI5EIA 198 | §M54108248 | £F55 11 148 | $F155 11 A288 | 5F0641 A308 | $M6F2A138 | FF6E3A 120
EKEZ — (51@1'”5) 9:35 9:23 9:30 10:30 9:33 9:22 10:30 10:30 9:38 9:15 9:25 9:12
KB °C =18 15.0 17.1 17.4 22.3 24.8 25.3 21.3 18.6 15.7 9.0 10.2 10.5
— i E 18/ml 100 0 0 0 1 0 0 0 0 1 0 0 0
N — |mHEnmnce PN T TR T TR T TR TR TR TR T TR
BEUVZDIEEY mg/L|  0.01 <0.001 <0.001 <0.001 <0.001
ANEOOLIEEY  [me/L]  0.02 <0.001 <0.001 <0.001 <0.001
T AEMAXVRE | Al oo <0.001 <0.001 <0.001 <0.001
e me/L 0.6 <0.05 0.18 0.05 <0.05
HO0OEER meg/L|  0.02 <0.002 <0.002 <0.002 <0.002
sonfkiLL meg/L|  0.06 0.011 0.025 0.018 0.012
CHOOER mg/L|  0.03 0.007 0.004 0.002 0.010
<JOoE/O0024> |me/L 0.1 0.003 0.003 0.003 0.001
REER meg/L|  0.01 <0.001 <0.001 <0.001 <0.001
NUIN=EL D meg/L 0.1 0.021 0.038 0.030 0.019
) OOEEE: mg/L|  0.03 0.010 0.012 0.010 0.012
JOECH/O0aA4> |meg/L|  0.03 0.007 0.010 0.009 0.006
KJOEHRILL meg/L|  0.09 <0.001 <0.001 <0.001 <0.001
BIRILLTILTER meg/L|  0.08 <0.005 <0.005 <0.005 <0.005
FHEIRBRUVZDIEESY [me/L 1 0.005 <0.004 <0.004 0.006
4@17':’%"%—'7/"&”%0) me/l| 02 0.016 0.030 0.039 0.016
HEVZDIEEY meg/L 0.3 <0.01 <0.01 <0.01 <0.01
RARUVZFDIEEY mg/L 1 0.006 0.004 0.004 0.005
RUAVRUVEDIES Y| me/L|  0.05 <0.001 <0.001 <0.001 <0.001
Bt AA4> mg/L 200 11 10 11 10 10 11 13 14 13 19 17 13
AREZREY me/L 500 82 92 134 154
I AIY ng/L 10 A A A A A A 1 1
2-AF ILAIRILFA—)L [ng/L 10 A A A A A A 4 A
ﬁféc)%agg)ﬁ EEs meg/L 3 0.8 0.7 0.7 0.6 0.7 0.9 1.0 0.9 1.0 1.3 14 0.9
pHIE — | 5.8~86 75 7.3 7.3 7.2 7.0 7.3 7.4 75 7.4 7.4 7.3 7.2
R — [Bgonunce| EBEgal| BEEggl| BEEgL] BE4L| BRE4L| BER4L] 2Exal] Eual] mEal] BExal| Bgal| BEwgal
BER — [Bgonnce| BEgal| BEggl| BEEgl] Beggl| BE4gL] BERalL]  2Exal] mEal] mEal] =mxal| Bgal| BEwal
BE E 5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
AE E 2 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1l E 0.5 0.5 0.5 0.6 0.5 0.5 0.6 05 0.5 0.6 0.6 0.7
e8| 5% Bt o R meg/L 20 5 6 5 8
BIR X 5EE(TON) — 3 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
*;iT‘:;l o . " —I*ETEMJ%t
NEBMEGU 7T — P:I’;@%{JO':E -1.5 -1.3 -0.8 -1.0
i)
HEREXEME f@/m| 2000 0 1 4 1
z TIVHE mg/L — 37 43 65 62
D ERmERE 1S/om — 145 119 119 102 101 139 173 200 183 262 228 182
ﬁﬁmwru»rz“p mg/L — 13 15 22 26
LNRBRIEE260) | — — 0.011 0.010 0.011 0.012 0.012 0.014 0.013 0.013 0.013 0.014 0.019 0.014




